.Preparatory two - First term revision - 2020.

FIRST: ALGEBRA

Choose the correct answer :

The irrational number lies between 3 and 4 is -+ -

bl @ss (6)3 & @713 @y20
5 F2s1]N{-250s1}= e
"l @i-2,051} {1} (c){0 1} @[-2-1]

IfX=Y3+2andy=Y3-2then (Xy > X+y) =

3 @(5-213) ®»GE»9 (c)(laZ\l—) @(-1+293)

.The line represented the relation : 3 X + 8 y = 24 intersects the y-axis
4, at the point ««.cooveeenee

(2)(058) (5)(8 »0) (©) ©53) @ 3 50)

If the arithmetic mean of the set of the valuesm sm+5 sm+4 ,m+3is9
5. sthenm=-ereverees

(a)2 (b) O (c)9 (D) 10
6 If the volume of a cube is 64 cm? 5 then its edge length is -+
| @32cem. (b) 16 cm. ()8 cm. (d) 4 cm.
7 The figure =——% ~ represents the solution of the inequality -« in R
(@) X>-3 b)X=-3 () X <-3 (dXs-3

8 iﬁ(ﬁ+ﬁ)= ...............
(2)3911+2 ®Y33+3 @1193+2 @2y11+3

(3 » 2) does not satisfy the relation -+
@y+X=5 ®)3y~-X=3 ) y+x=7 (dX-y=1
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The arithmetic mean of the values : 5 512 5 17 5 6is -voemeee

10.
0 (a) 10 (b) 12 (c)4 (d17
11 ]fx:ﬁ+2andy=ﬁ_2 ,thean:
@1 (b) -1 () -4 @3
b | FLANE3 1]
@@ () {-3} ) {-1} @ {3}
13 If the lower limit of a set is 6 and the upper limit is 10 » then its centre i§ -
| (@) 4 ) 6 (©) 10 (d) 8
14 The multiplicative inverse of 1—3 18 cererrerainian
@10 &5 ©2Y5 @-25
15 The SS. of X+22 1 InRijs orverennees
@ [-1 e (b) ]- 1 500 ©)[1,2] @[1,2[
The mean of the set of numbers : 5 s12 217 » 6 I8 seevesimniines
16. () 40 0 (B)20 ©)5 (10
17 The S.5. of the equation : X2 _1 =8 RS weererreernes
@ o {3} (©) {-3} (@ {-3,3}
The conjugate of 1 I8 +rereercrnains
18. Y342
@Y3-Y2 ®)3-12 ©3+12 @Y3+42
0 The value of b that makes (- 2 » 3) satisfies the relation: 3 X +b Yy=318 e
19.
(a)3 (b)2 )1 (d)-3
If the mode of the values : 5 s X +3 59 +4is9 sthen X = - ovomveven
20.
(@) 5 (b)4 ()6 (d)3
21 (ﬁ_p 8 ) T e
()18 b)y10 (c) 4 d) 10
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The sum of the real numbers of the interval [— 150 5 150] ig -veveveeen

22.
(a) 300 (b) - 300 (c) zero (d) 150
93 The volume of a cuboid whose dimensionsY 2 cm. 9ﬁ cm. ﬂlg CINL. 8 +rrerrrererrine
, (a) 6 cm? (b} 36 cm? (c) 6'\(5 em’ )1 Sﬁ cm?
If{al=5 sthena= -
24 ()5 (b -5 OFE @ys
o {859,105 -18,10[ = oo
@@ ) {9} ©N (d) {8 » 10}
QN = ccoorverrrnnn
26.
@R bR, IR d) &
- {X:xERsx<1}= s T :
@{0s-1,-2} B)]-e,1] © J-o0 1 (@1 5o
o, | The additive inverse of Y5 Y3 is wrvvroren
| @fs-s . os+(s ©-15-3 @315
2 2

@4 (b)2 ©38 @3

|Complete each of the following :

1. | The slope of a straight line which passes through (—3 s 1) and (— 2 5 5) is ----ovreeeeeeme

2. | If the mode of the set of the values 17 8 sk +5 8 »17is 8 sthen k= «oveeen
3. | The multiplicative inverse of @—g—@— ¢ JRCRTRICTRNY (In the simplest form)

4. | The radius length of a sphere whose volume is % L em? S oo CRL

5 If the order of the median of the set of values is fifth » then the number of these values
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r

6. | Y64 +{T6=.....

7 The multiplicative inverse of the number —%— i_s T;

8. | If the volume of a sphere = -1% T ems théﬁ its radlus length = ++-eeeeeoo- CIIL

0. TheS.S.oftheequation:x3—27=_0inIR.is ...............

10. | [155]-{1 55} = vvcrnen

11. | Acube whose volume is 8 cm? 5 the length of its edge = «+----oreee cm.

1 The slope of the straight line which passes through the two points (2 »—2) and (4 5 2)
i8 o

13.

14.

15.

16. | The multiplicative inverse of the number 2’1!? IS errrereranenns

17. | {859 5103 N 18 »10[ = -rorrvvern

18. | The length of the edge of a cube of volume 15 % CINC §§+eeereveenenres

19. | Fa=Y5-2 5 b=A5+2 ,then a? b = e

20. | The S.8. of the equation X? + 5 =0 in R is ---rrrrvrevee

21. fa?+b?=25andab=5 smen%+%= ...............

22. | 1557[U{5:7} = e

23. | The slope of any line parallel to X-axis = -

24. | 5 +12 its conjugate is -reereere and their product is -«
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4

1743

o5 | The conjugate of the number 0§ +eevmiennnns

26. | The total area of a cube of edge length4 cm. is ............... cm?

If the point (6 5 a) lies on the straight line whose equation is X + y=3
sthena=........

217.

28. [2 ,7[ U {2 97} e

29. Ifa:ﬁ+l andb:ﬁ—l sthena—~b= - occiene

Essay problems:

IfA=]-153}and B =[0 »5] 5 then find :
(DANB @B-A @R, NB

2. | simplity :2427+ 1 5475 +16

Find in R the $S. of each of the following :
3
(3.39..’53;_1)_.=9 @-1<3-2X<5

4. Ifx:Zﬁ—ﬁmdy=ﬁ+ﬁmdthevalueof:%%

If (a » 3) and (3 » b) satisfies the relation 2 X -y =1
5. | (@) Find the value of a and b
(&) Find the slope of the straight line which represented the relation : 2 X -y =1

Find the mean of the following frequency distribution :

6. | ‘Sets | 5- | 15-[25-[35-] 45— | Total |
(Frequency| 3 | 10 | 12 | 10 | 5 40 |

~v\2
7. Ifx:ﬁ—Zandy=ﬁ+2 ,ﬁndthevalueof:(H)

8. | Simplify the following to the simplest form : {98 —128 —M + 415
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IfX=]-co,2[and Y=[-1,5] s find using the number line :

Q.
@XNyY @X-Y
10. | Find the slope of the straight line passing through the two points: A (1 53)and B (2 » 3)
11 Find the solution set for the following equation in R ; then represent the solution
" | onthe numberline:-8<3X+1<4
1 IfX=[-2:1]and Y =[0 » ] Find :
lmxNy @xUY @Y-X
13. | Represent graphically the relation: 2y - X =2
14. | Represent graphically the relation : y =2 X -3
15. | If (3 » 2) satisfies the relation X + 2 y = m » then {ind the value of m
. . . Lq
16. | Find in the simplest form : 2418 +{ 50 + 3 1162
Find the lateral area for right circular cylinder of volume 924 cm?
17.
» and its height 6 cm., (ﬂ? = 2—-}2)
18. | Find the 8.S. of the inequality : 722X+ 1> 3
19 FX=[-1,2]andY=[1 e[ Find :
Tl ®XNY @XUY
20 The radius length of the base of a right cylinder is 4ﬁ cm. and its height is 9 cm.
" | Find its volume in terms of I
IfXx andy=3 +1!— Prove that : X and y are conjugate numbers
21. 3+V_
» then find the value of : (X + y)*
99 IfA=]-2,6]and B = [4 s =[ » use the number line to find :
" MAUB @ANB
23 If the volume of a sphere is 36 Tt cm® Find the length of its radius » then calculate its

total area (JC = 3.14)
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24. | SolveinR the inequality : X +2<3X+2<X+ 16
1t x=7+{6 andy= —1
25. Y7416
(1) Prove that : X and y are conjugate. (2) Find : the numerical value of X% —y?
26. | Find in R the S.S. of the inequality : —9<-3X+2< 17
27. | If the volume of a sphere is 288 7t cm? find its area.
Magdi filled the tank of his car by fuel. The opposite %
figure represents the relation between the time (t) in w
hours and the amount of remained fuel in the tank 6
(y) in litres : 50
28. | (1) What is the greatest capacity of the tank ? “
(2) When will the tank become empty ? L
(3) What is the amount of remained fuel after 15 hours ? 2
(4) What is the range of consumption 10
.of fuel in each hour ? «70L 230 hr. s35L » 2% L /hr. » L R
The opposite graph represents the motion of a car s
moving with uniform velocity. 150 -7 i
29 Determine the velocity of the car. ool—tt T ]
50
0 1 2 3 4 in hours
°
Choose the correct answer :
1 InAABC : Hm (£ B)=90° sthen +vovovevonneee :
" | @AC>CB (b) AB > AC (c) BC>AC (d)AB =AC
If the lengths of two sides of an isosceles triangle are 3 cm. and 7 cm. s then the length
2. of the third side i§ -

(@) 3 (b)y 4 ()7 d) 10
-7-
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In AABC : IfAB = AC and m (£ A) =60° , then the number of axes of symmetry of

3. | the triangle ABC is ---eoeer
@0 (b) 1 ()2 (d) 3
4 Any triangle has .- medians.
| @0 (b1 ()2 3
5 If ABCD is a square » then the axes of symmetry of AC s wooreerreenn
" | @AD ®»BC (c) BD (d) AB
5 The measure of the exterior angle of equilateral triangle = .o ooienes
| @90 (b) 120° (c) 45° (d) 60°
If AD is a median in A ABC and M is the point of intersection of the medians » then
7 . AM=--.s, AD
L 2 2 L
OF ) 3 © 3 @4
3 IMAXYZ - fm(£LZ)=70°and m (£ Y)=60° sthen YZ ----oeenee. XY
| @< (b) = ©)> (d) is twice
9 The numbers 4 s 8 »-vvvivere can be lengths of sides of an isosceles triangle.
(a4 (b) 8 (© 12 @3
InAABC »ifm (£ B) =90° and m (£ C) = 30° 5 then AB «---wcrer AC
0 @ 3 () 2 (c) equals @1
The number of axes of symmetry of an equilateral triangle is -
11.
(@0 (b1 (c)2 (d)3
An isosceles triangle » one of its base angles has measure 50° ;s then the measure of the
12. | vertex angle = voveneeenne
(a)50° (b) 60° (©)70° (d)80°
'AD is a median of triangle ABC » and M is the point of intersection of the medians
13 sthen AM =...coivnaie. AD

@3 )3 © 4 @1
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If the lengths of two sides of a triangle are 4 cm. and 8 cm. s then the length of the
&lird Side e rearerananrare ocm

(2)3 (b)4 (c)8 ‘ - (@12
15 In a triangle ABC »if m (£ A)=80° and m (£ C) = 60° » then AB -+ cervveerne BC
| @< ®)> ©)= @)=
B
In the opposite figure :
16 AADB »m (£ ADB)=90° ,BD =5 cm. % §
" | and AB = 10 cm. s then m (£ A) = woervrmreress®
A D
(a) 30 (b) 50 (c) 70 (d)90 '
The point of concurrency of medians divides each median in the ratio - from
17. | the base.
(@1:2 ®2:1 ©3:1 d2:3
18 The number of axes of symmetry in the scalene triangle is -+
| @1 (b)2 (©)3 (d) zero
19 In AABC s AB=AC and m (£ B)=70° > then m (£ A) = --ervvvvien
| (a) 140° ) 70° (c)40° (d) 110°
20 A ABC in which : m (£ B) >m (£ C) s then AC -+orevevinnes AB
| (@) > - ®) < (€)= D=

Complete each of the following :

The intersection point of the three medians of the triangle divide the median in the

L raiQ creerreeieees from the vertex.

2. |InAABC:HCA=CBandm (£ C)=m (£ A) sthen m (£ B) = wowveriinin °

3. | The bisector of the vertex angle of the isosceles triangle is - and oreverreenens

4 If the measure of an angle in the isosceles triangle is 100° » then the number of axes of

symmetry of AABC s «-voeerne
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5. | The longest side in the right-angled triangle is -+

6. In AXYZ sm (£ X) =90° 5 then the Iong_cst Side ig - veceerneeren

7. | The base angles of the isosceles triangle are .o eeio.

8. | ABC s a triangle in which AB =4 cm. » CB = 7 cm. » then AC € [ o]

9. | If Athe axis of symmetry OF XY 3 thet] «orveveecrecree = conernrreninnns

10 If the measure of an angle in the isosceles triangle equals 60° » then the triangle has
............... axes of symmeiry.

11. | The sum of measures of any two consecutive angles in the parallelogram = -+ rrererees ©

12. | The straight line perpendicular to the midpoint of a line segment is called «+vevovro.-

13 .The len.gth of the me-dian from the veriex of the right angle
in the right-angled triangle = --vveeoeie

14. | fTAB=ACinAABCandm (£ B)=40° sthen m (£ C) = -+rvievrvuens °

15. | InAXYZ »if XY < YZ < ZX ; then the greatest angle in measure is £ oo

Essay problems:

InAABC sif AB=5cm. » BC=7cm.and AC=9cm.
Arrange the measures of its angles in a descending order.

In the opposite figure :

XY > XL ' v
and YZ>ZL

Prove that : m (£ XLZ)>m (£ XYZ)} 7

In the opposite figure : L

m (£ XYZ)=90° ; X
» D is midpoint of XL B

» E is midpoint of ZL and M is the midpoint of XZ
Prove that : DE=YM

N
s

-10-
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In the opposite figure :
ABC is a triangle » X is the midpoint of AB
»Y is midpoint of BC » XY =5 ¢cm. and XC N AY = {M}
where CM =8 cm, s YM =3 cm.
Find : (1) The perimeter of A MXY
(2) The perimeter of A MAC

In the opposite figure :
AC>AB and DB =DC
Prove that : m (£ ABD)>m (£ ACD)

In the opposite figure : A

CEBD >m (£ ACD) = 130° :

and m (£ BAE) = m (£ CAE) = 40° b
NGre— 130,

Prove that : (4) AE L BC B 5 Y

(@) E bisects BC

In the opposite figure :

D is the midpoint of AB » E is the midpoint of AC
»CD N BE = {M}

KDE=4cm, sDM=3cm. » BE=6cm.

Find : The perimeter of A BMC

In the opposite figure :
IfAC > AB and DC = DB
Prove that : m (£ ABD) > m (£ ACD)

In the opposite figure :
HAB=AC
Prove that : AD=AE

-11-
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In the opposite figure : D -
ABC is a right angled triangle at B
sm (/. ACB)=30° AB=5cm.
» DH = 5 cm. and H is the midpoint of AC o !
C B

>

Prove that : m (£ ADC) = 90°

11.

In the opposite figure :

ABC is a triangle in which ;
AB =AC ;s BD=CH

Prove that : (1) A ADH is an isosceles triangle. C
(® /L AHD = £ ADH

In the opposite figure :
ABC is a triangle in which : AB = BC ; AD // BC

12.
»m (£ DAB) = 30°
Find : The measures of the angles of A ABC ¢ - - B
In the opposite figure : D A
AD // BC »m (£ BAC) = 80° "853
13.

sm (£ DAC) =30°
Prove that : BC > AB

In the opposite figure : A

ABCD is a quadrilateral in which : AB = AD = 5 cm. 5 d;b
14. | »BC=2cm. ,DC =4 cm.

Prove that : m (/. ABC) >m (£ ADC)

w
A

In the opposite figure :
15. | AB>AC ,DE # BC

Prove that : AD > AE D E

-12-
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